ROI NO. ..o Lo I 21103
Printed Pages : 7
OBCE / A-17
FINANCIALACCOUNTING
Paper-III

Time allowed : 3 hours]

[Maximum marks : 80

Note: Attempt five questions in all, selecting at least one
question from each unit, but not more than two questions
Jrom any unit.

e : mmawéﬂwméﬁﬁ##m&?aﬁ N TG7 T
gt.r@wvam?a}cma?m:

Unit-I M-I) ?

1.  What is Accounting ? How does it differ from Book
Keeping ? 4+12=16
d@iET a1k ? 9E gEwed @ B wmR B R 7 4+12=16

2. (a)

(b)

Explain the sub-division of Journal.
sw & Iv-fawom # aren w5t

Name the three types of Accounts. Give their
respective rules of journalising the transactions.

8+8=16
A IR 3 @t B T Ry | R gt o | aar ae
® o gy & ? 8+8=16

3.  Thére was a difference of Rs. 430 in a Trial Balance, It
wag, placed on the debit side of suspense A/c later on the
following errors were discovered. Pass rectifying entries
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(2)

and prepare suspense A/c :

(i) Purchase book was overcast by Rs. 100

(ii) Sales book was overcast by Rs. 1000.

(iii) Goods for Rs. 800 purchased from Umakant, though

entered in the purchase book, has not been posted
to his account.

(iv) An amount of Rs. 500 has been posted to the credit
side of commission account instead of Rs 570.

(v) Goods sold to Bharti for Rs. 4400 has been posted
to her account as Rs. 4000.

(vi) Goods sold to X for Rs. 750 was recorded in
purchase book.

| wEEEeE ¥ 430 S9T B I 9 T, R guwh @r @ 3 o
7 o R | & & Py gfeat o gf 1 9 O 0 91 e
HIY T Ja=it @I FARY |

(i) = <@ = W 100 YU ™S T T
(i) feRa 98 # Siis 1000 &. Afts @ ™

(iii) THT @ 800 . %1 T 74 R PR 7 a8 F A Rre R
T 6D A T G B G T

- (iv) e Er P ART w F 570 €. 3 WHE W 500 9 Rg
feg M)

(v) R B 4400 5. 3 A e R weeg 9@ @t # 4000
¢ @ 1)

(vi) T & 750 %. F AW I WY I A9 WS A R
T
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(7)
Liabilities_ Rs. R RL
Bank overdraft 15,000 |Sundry Debtors | 40,000
Reserve fund 12,000 |Less : Provision | 3,600 36,400
Sundry Creditors 20,000
Capitals : Stock 20,000
A 40,000 |Building 25,000
B 30,000 |Patents 2,000
Machinery 33,600
1,17,000 1,17,000

zd [y & IR @ @t aeed & afafe B T e e

I 3/6 : 2/6 : 1/6 & Fife wemierelt B A | W §

a7 e F Srgar ool aman @ ,

() @ 10,000 57 i 3 R R B R = F awn B

(i) «Rg = FEsW B 2000 59 | 2T B

(iii) % gUT TRTEER & Rrae gy 2600 941 & | 95 T A
el foran gam 81 @ o g § foreem B

(iv) @@ ® TE g9 81

(v) @7l @ 2% ge e 3t g 8

YgedieT @, goft @ e 7w # Riger el
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(6)

10. A and B ase partners sharing profits in 2:1. Their Balance
Sheet is as follows :

Bank overdraft 15,000 |Sundry Debtors | 40,000

Reserve fund 12,000 |Less : Provision 3,600 36,400
Sundry Creditors | 20,000

itals : Stock 20,000
A 40,000 (Building ) 25,000
B 30,000 |Patents ' 2,000
Machinery 33,600
1,17,000 1,17,000

They admitted. C into partnership om this date. New profit
sharing ratio is agreed as 3/6 : 2/6 : 1/6. C brings in
proportionate Capital after the following adjustments :-

(1)

(ii)

C brings in Rs. 10,000 in cash as his share of
goodwill.

Provision for doubtful debts is to be reduced by
Rs. 2000.

(i) There is an old typewriter valued Rs. 2600 it does

(iv)
(v)

not appear in the books of the firm. it is now to be
recorded. . - ' ‘

Patents are valueless.

2% discount is to be received from creditors. Prepare
revaluation A/c, Capital A/cs, and opening Balance
Sheet

QR & it @ 2:1 % et gq wder & ol o Rufy Rawo 5w
TH 8
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4.

(3)

The following is the Trial Balance of Amrit Raj as at

31st March, 2008 :
e 31 €, 2008 #t 39T T H TATE & -

Dr(Rs.) | Cr.(Rs.)
Capital 2,50,000
Building 3,00,000
Furniture . 26,400
Scooter 40,000
Return inward & outward 23,000 16,000

«+: Stock (on Ist April, 2007) 80,000
Purchase apd sales 3,38,000 5,60,400
Bad debts 3,000
Carriage inward 7,000
General expenses iz.mo
bad debts provision 7,000
Bank Loan 5 50,000
Interest on Bank Loan 3,000
Commission 9,000
Insurance + Taxes 20,000
Scooter Expenses 26,000
Salaries : 44,000
Cash in Hand 20,000
Debtors and Creditors 30,000 80,000

9,72,400 | 9,72,400

21103 [Turn over




| 21103

(4)

You are required to prepare final accounts for the year
ending 3 1st march, 2008 taking into account the following
informations/adjustments :- |

(a) Closing stock on 31.03.2008 was valued at
Rs. 43,400.

(b) Commission include Rs. 3,000 being commission
received in advance

: (c) Salaries have been paid for 11 months.
(d) Bank loan has been taken at 10% p.a. interest.
(e) Depreciate building by 5% and scooter by 15%.

(f) Write off Rs. 2000 as further Bad debts and
maintain Bad debts provision at 5%. 16

ST et et el 3 e wed gu 31 7 2008 B
w B A o B g P Ol SaR HA B

(&) 31 =i 2008 @ R # g7 43,000 5. @11
(3) w3000 5. SR ara e B v ¥
(®) ¥ 11 @Y = e Rea R

) ¥ T 10% arfife s @ forn B

(@ v W5% o Wt W 15% B @ g1

® 2000mqt§aam%a¢ﬁrﬂaﬁmﬁrﬂaamm
AR W 5% @R Fiolt & Rig s s B 16

Unit-11 (é-11)
Distinguish between Receipts and payments Account and
Cash Book. 16
A ST G @y o qobg ges F ST Hivi | 16

9.

(5)

What is joint venture ? Sate the differences between joint
venture and consignment. 4+12=16
HYF WEE T 8 ? €Y wed AR dwer F ar #ifg )

' 4+12=16

On 1st April, 2008, a company purchased a Machinery
for Rs. 10,000 and spent Rs. 2000 on its erection. On st
Oct, 2010, it purchased a second machine for Rs. 4000.
The Machine purchased on 1st Oct, 2010 was sold on 1st
April, 2012 for Rs. 4600. The depreciation is provided at
th€ rate of 10% p.a. on diminishing balance method by
the company. Prepare a machinery Account upto the year
ending on 3 1st March, 2013. 16
T N 3 1 3 2008 # 10,000 59 # @ Tl w9 ol
6! T 9T 2000 B9T =9 BT 1 swER, 2010 3 359 4000
BU I a7 @l 1 sran, 2010 B @dd w wefe 1 adw
2012 3t 4600 s ¥ A9 & FH 10% aifife & F w9rTa 2
it & B Freeht 8131 A, 2013 9% o aul &1 AsiE @
CL I 16
Unit-I11 (g3-11)

Distinguish between Hire purchase system and instalment
payment system. ' 16

Retrn vl ol Resa s wafy & st iR 16

What do you understand by Realization Account ? How
and when is it prepared ? How does it differ from
Revaluation Account ? 4+6+6=16

e @R /I 1w ¥ 7 78 w9 o) AR e R ot & 7
TE TR TRt @ 38 R § 7 4+6+6=16
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